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1. Let f(x,y) = zy. Show that f(2+ h,3) — f(2,3) = 3h.
2. Let f(z,y) = xy. Show that f(2,3+ k) — f(2,3) = 2k.
3. Let f(z,y) = 10%/%43/5. Show that f(3a,3b) = 3f(a,b).

(4-8) Find gf and gf for each of the following functions.
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4. f(z,y) = 22%eY.

5. f(x,y) = xze™.
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7. f(,y) = 226 n(y)
8. flx,y) = /22 + 92
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(0-12) Find 0x2” 9y’ dydx and dz0y

6. f(z,y) =

for each of the following functions.

z,y) = ze¥ + 2ty + 3.

fla,y) =

10. f(z,y) = (w+y)
(z,y) ="
(z,y)

11. f(z,y

12. f(x,y) = 6023/ 4y1/4,



